0000 I(00 0000)
vV.0oo1

000 §4.1-4.3, pp.47-59

goooo

e 00 nOOOOOA
DDDD|&DDDDDD§DDDD

AA = |AlL, (267)

0000 (00 413)000000. 000000000000, OO,
goooooooboo,oboo

A7l = = (268)
4]
0000.00000000
1A =0 (269)

gbooobooaobooabod.

ooboooooooooooooooobn |A|¢ODDDDDDDDD
oooooooo

00O
4 N
0000000 Ae=b0000000
ﬁ/\

D000 AO0DO
T
0oo |4 #o.

N J

e 00DDOD

obooooobooooooobooooboooboon.

- 0000000000 00UD (O0O0DoOoUoDOoO)
- 00000o0oUoOooooo (oooon)

- 0000000000000000000000 (000000
oo)

48



000000O00O000o0U0oOoUooO(uoooooooon).

e 0ODOO
- ooooo
/1 _ ailp a2 (270)
a21 A22
0000 |Aloooooon.
A= " sgn(o1 02)a,, azo, (271)
(01 02)
=sgn(l 2)ajiass + sgn(2 1)ajzas (272)

000, sgn(oy 02) 000 (01 05) 000000,

x 00O
(12)0(21)000 1000000000 2)00000
Ooo0ooooooo.

. (12)DD 0'121,0'222.
- (21)00 0y =2, 09 =1.

» 00000
00 (061 00) 000000 sgn(o102) 0470000 o; >
0, 0000004000000 (000)00000

sgn(oy 09) =1 (273)
0000 (oo)yooooo
sgn(oy o9) = —1 (274)
goo.
« 0 (272)0000000.
. (12)000

i=1<j=20000,=1<0,=2000,0000
0000000.000,00 (12)000 sgn(12)0

sgn(l 2) =1 (275)

49



(21000

000,00 210)0i=1<;j=2000 01=2> 0y
=1000,00001000000.000,00 (21)
000 sgn(21)0

sgn(2,1) = —1 (276)

x« 0 (272) 0000000000000

|A| sgn(l 2)0,11&22 —+ Sgn(2 1)&12(121

=1Xajjag + (—1) X ajza

= 11022 — 412021

2 3
) -

sgn(l 2) x2x4+sgn(21)x3x1

+ 0gooaooan

ooooo

2 3
1 4

1x2x4+(-1)x3x1
=5

50



00000000000000.3000000 A4

ailr a2 ais
A= lax ax axs

az1 asz2 ass
googo
a11 ai2 ais

|A|: Ga21 a2z a23

az1 asz ass

= E sgn(01 02 03)a1a1 A25, 0305

(01 02 03)
= sgn(l 2 3)(111@22&33
+sgn(l 3 2)ariaz3aszs

+sgn(2 3 1)aiza93a31

(132)

(231)

+sgn(2 1 3)ajasiass

+sgn(3 1 2)ajzasiass
321)

+ sgn(3 2 1)ajzassas;

ol

(278)

(279)

(280)



+ 0000000000
S (123)
0000000 0. 000 sgn(l23)=1.
S (132)
1=2<3=300=3>0=20000001. 00
O sgn(l23) =1.
-gooobbbbooooobbooboog.
x 0 (280)

|A| =sgn(l 2 3)ajiazqass
+ sgn(1l 3 2)ajiassass
+sgn(2 3 1)ajsaszaszs
+sgn(2 1 3)ajzazass
+sgn(3 1 2)ajsasass
+ sgn(3 2 1)ajzassas;
=1 X ajia92a33
+ (—1) X ar1az3a32
+ 1 X aj2az3a31
+ (—=1) x ai2az1a33

+ 1 X aizasiasz

+ (=1)x)aizaz2a31 (281
= (11022033 — 411023032 (282
+ a12023a31 — A12021033 (283
+ a13a21032 — a13a22031 (284

52



+ 000000000

1 2 -1
2 1 0 (285)
1 0 2
googono
1 2 -1
-2 1 0|=sen(123)x1x1x2
1 0 2

+sgn(132)x1x0x0
+sgn(231)x2x0x1
+sgn(213)x2x—-2x2
+s8gn(312)x —1x—-2x0
+sgn(321)x -1x1x1
=1x1x1x2

+(-1)x1x0x0

+1x2x0x1

+(-1)x2x-2x2
+1x-1x-2x0
+(-1)x—-1x1x1
—2-040—(=8)+0—(=1)  (286)
=11 (287)

53



e JOODOODOOODO

gogbooboobooboboobbooboobooboooo

54

og.
«+ JOO0OooOog
kaiy + by kayo +1b1o _ | a2 Ll bir b2
a21 a22 a21 Aa22 a1 a2 7
(288)
a1 ai2 —k ail a2 1 ailr a2 '
kag1 4 lba1  kags + 1b2o a1 a bar b2
(289)
+ 00000
2x14+3x2 2x2+3x1 8 7
= =-15 (290)
1 -1 1 -1
ooo,
1 2 1
2 +3 =2x (=14 (-1)x(2))+3(-2+ (1) x 1)
1 -1 1 -1
(291)
=—6+(-9) (292)
=-15 (293)
oogoooooo.
+ 000000
kai1 +1bin kaio +1b12 kaiz + Ibys ail a2 Qs birn b2 b3
a1 a22 a3 =k az1 a2 a3 +1 az1 a2 a3
asy as2 ass asy as2 ass asy a2 as3
(294)
a11 a12 a13 ail a2 ais a1l a2 ais
kagr +lba1  kaga + lbay  kags + lbaz| = k|ao1  aza  agg| +1|ba1  bao  bag
asy a3z ass as1 asz ass a3l asz as3
(295)
al a2 a3 ai; Q12 a13 ail Q12 ai13
a21 a22 a23 = ka1 aoe a23 +1llas a2 ags| -
kazi + lbz1  kazz +1bza  kass + lbs3 a3y asz ass b1 b3z b33
(296)




gboooooobooooooo

*» 000000
a1l a2 a21 a22 (297)
as21 a922 ail a2
*» 00000000
2 1
) 1:1><2><—1+(—1)><1><1 =-3 (298)
ooag,
1
) 1|1><1><1+(1)><1><2 =3 (299)

gboooboobooooobooon.
+ 000000000

95



